
N = 91

 91 circles in a 1x0.70000 rectangle

radius =   0.044827999846
ratio  =  15.615240528496

density  = 0.820714201661
contacts = 206

 E.SPECHT
09-AUG-2010

N = 92

 92 circles in a 1x0.70000 rectangle

radius =   0.044694261551
ratio  =  15.661965892532

density  = 0.824789630703
contacts = 168

 E.SPECHT
10-AUG-2010

N = 93

 93 circles in a 1x0.70000 rectangle

radius =   0.044582386076
ratio  =  15.701268182510

density  = 0.829585969123
contacts = 189

 E.SPECHT
10-AUG-2010

N = 94

 94 circles in a 1x0.70000 rectangle

radius =   0.044541654888
ratio  =  15.715626232467

density  = 0.836974802554
contacts = 162

 E.SPECHT
10-AUG-2010

N = 95

 95 circles in a 1x0.70000 rectangle

radius =   0.044471547067
ratio  =  15.740401361566

density  = 0.843218087213
contacts = 215

 E.SPECHT
10-AUG-2010

N = 96

 96 circles in a 1x0.70000 rectangle

radius =   0.044172292072
ratio  =  15.847038203468

density  = 0.840664940821
contacts = 183

 E.SPECHT
10-AUG-2010


